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LY A7 iy b FRLE PEEME 5, 000m3AH ;
b 3, 380 m3
0 Cabl- EHIRY £5Te) ;
b 280 m3
0 Cabl- EHIRY £5Te) ;
b 260 m3
0 Cadl- EHIRY £5T) ;
BEARRE AT = 1 815,015 | B&{A (BLEE) k1 30 m3
2. 5mPL 4. OmARTi ;
PR (BEE8) S 1 3, 100 m3
4. omPh Lk
b 40 m3
0 CaBl- EHIRY £5Te) ;
FHIA Ob-27) 40 m3
+Hw 550, 000m3 AT ;
MR %+ T = 1 14,010 |mEmRE 60 m
Rkt A = 1 438,278 | IEMEFETE (8] 156) 280 m2
BRI v+ R O + kit
LRI (3% 1350) 120 m2
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LRI (3% 1350) 220 m2
T i S O I BRI
552 7)) =X 1 1,883,074 |8E 0 av))-} 594 m2
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18-8-40 (Fi47) ;
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150kg/{EAT 122 350mm VEHEH7 FAREA R
C-40 18-8-40 (Fi4F) WEAY—ME ;
Bl HT Rbiav - 8 m3
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H HihR 10 m2
VR WS B A =10
EFEET = 1 1,432,775
BN = T 2y 1 1,432,775 | BIHIA-N" 14 500 m2
TemPA R —J8 B4 0 o AR ET ATy
(20) ;
s (& B A 25 m3
TAT 7V
By 25 m3
TA7 7 (BIED
HEKHEEY T = 1 17, 686, 624
e+ T 2 1 405,669 |FRIEY 1 X
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i 1 =X
+4)
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HEL 1 X
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AR T = 1 1, 744, 878 | 7" VEyANUEHINE 107 m
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7" VoA MU 52 m
300X 300 (K H) FeREmL

7" VoA MU 7 m
450 X 450 UKD ;
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BT =Y 1 11,051, 142 | &iES V=FL/ g 46. 4 m
i ER JzFv/) 774 R30 ¢ 1500 ;

AR v T 2 1 1,676,350 | BUGFT B A K 1 (£
(heghm )
500X 500X 500 B FTHF 18-8-25 (FifF) 1hm
VEZEARFIEE

BT B K 1 (£
(gt ) (B k)
250020002100 Bi3GFTHF 18-8-40 (mIF) 14
HEZEAHEIE

BGHT K 1 (£
(gt ) (M k)
25002000 X 2200 Bi3GFTHF 18-8-40 (F¥F) 14
HEEZEAHENE

= 1 e
(heghm )
500 X 500 (600 X 600X 3. 2) ;

E 1 L
(Ragii ) (& k)
2500 X 2000/ ;

Gragmtxas) (ko)
2500 X 2000/ ;

HNHEAKL =X 1 1,108,529 | FAEHEKE 207 3
BAIT9v%=77 RC-40 ;

KSR K 8 m
P B 50~150mm VP-50 ;

W H U BG4S 320 m2
EfER V2a7h% AkA t=2. 0~2. lmm ;
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HEk L = 1 1, 700, 056 | /NERHEAK 35 m
(UBRITHE)
{3 OKBEH) PIIE 300mm PN 300mm ;
CEUIEVZARIN 180 m2
18-8-40 (F&F) 2y -ME R EIHe4E
BT T = 1 860, 500
EEARI I AT T 2 1 860, 500 |47 =N L—w 100 m
WAL Gr—C—4E 100mih L b g a0 46 1 28
X T = 1 172, 000
X R T 2 1 172,000 | ¥ b= iR 500 m
AR FEE) EHE 15em 1. bmm HEAK AR LE 4
H
TE AT e it ek T Y 1 230, 310
BRT X 1 230,310 | BERU4L 30 %N
120 X 120 X900 R4 & JLpkdE L ;
SN AL T =Y 1 8, 232, 250
AP T X 1 8,232,250 |JS/MMLERIEYE ! A
HEYE T Y 1 547, 822
s EEE L T Y 1 409, 960 |2V -MEE W EUE L 37 m3
EAEAETEY) FEMOE T ;
TE R L T =Y 1 137,862 | ZRiEH 37 m3
/)= (AT
RISy 37 m3
/) - bk BEA%)
RE% T = 1 6, 172, 890
R e T X 1 4,353,525 | KR+ 5 ! A
FU 6 110 X 108 58 G f

-5 - E ta2@d Ui




B
T
iy
i
I

T4 | BRE 3 ZOMEatXe R T

TEHX4y « Tfd - FER B Az £ & #A i il R
KR = 719,580 |& 7" HEk 1 2
0LA 40 (m3/h) Kl TEZERFIK
K T = 800, 185 | KBS/ 1 =
18-8-40 (B J7) t=10cm ;

A ERE E T = 299, 600 | AZEFEEE i B 1 =
[ERAE Xy = 65, 196, 916
HiE R = 14, 247, 950
BISTIGE: = 7, 246, 950

TERE = 142, 000 | % i bl i 2y 1 =

Hefif & = 6,351, 150 | &R 1 =

ARy 1 =

HeffrE sy = 58, 800 | 18 & fiti i FeANT —HERKEY 1 F2V
BGRESGESE (5 L) = 695, 000
B (FEHL) = 7,001, 000
T = 79, 444, 866
Bl gy = 24, 884, 000
T =5l = 104, 328, 866
— R A = 17,661, 134
TS = 121, 990, 000
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